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ge: The following question is for the Visually Impaired Candidates only
in lieu of Q. No. 32.

“It is necessary to generate employme

in the informal sector.” Justify the given statement.

(a) () “The real motive behind infrastructural development in India

was to strengthen the British interests.”
Do you agree with the given statement ? Justify your answer

with valid arguments.

%atna policy has facilitated the maintenance

and disinvestment of Public Sector Undertakings (P§
y the given statement with valid explanation,

OR

at in the formal sector rather than
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